diff evMon4 (nm)

1.4

=
N

0.8

0.6

0.4

0.2

-0.2

-0.4

-0.6

Maindet weighted avg, local errors - diff evMon4
Mean = 0.2 +- 0.3 nm

Chi2/NDOF=3.0/1

Probability = 0.08

0
rcdb_sign



107"

1073

Maindet weighted mean, self pull - diff evMon4

Maindet weighted mean, self pul

Entries 2

Mean -0.4822 + 1.03

Std Dev 1.456 + 0.7282
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Self weighted pull - diff evMon4

Self weighted pull

Entries 2

Mean 0.3897 + 0.8234

Std Dev  1.165 + 0.5823
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Maindet weighted pull - diff evMon4

Maindet weighted pull

Entries 2

Mean 0.002451+ 0.8704

Std Dev 1.231+ 0.6155
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Equally weighted pull - diff evMon4

Equally weighted pull

Entries 2

Mean -2.864e-08 * 0.8683

Std Dev 1.228 + 0.614
Underflow 0
Overflow 0
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